


TANK REPLACEMENT PARTS   
 1. TANK     
  ** TANKS w/ MOUNTED CONTROL CABINETS ** ** CONSULT FACTORY ** 
  VLC 2, 3, 4, 5KW SINGLE STAGE 1-HEATER TANK (9/02 - 7/10/13)  
   1-HEATER TANK ASSY 183512-016 
     (1) GASKET COVER 1 HTR VLC/VLDI  
     (1) TANK WELD, VLC/VLDI02 1 HEATER (304SST)  
     (1) GASKET 3-1/2" X 11-3/4" SILICONE  
     (1) ADH CAULK SILICONE 1.0 OZ AC-1230-FLOW  
     (4) WASHER 1/4" LOCK PLATED  
     (4) SCREW MACH 1/4" 20X1" PH PNHD SST 18-8  
     (10) NUT LOCK 1/4" 20 UNC HEX NYLOC PLATED  
     (4) NUT RETAINER 1/4" 20 UNC  
   1-HEATER - TANK ONLY 167702-001 
  VLC 6, 9, 12, 16, 21, 25KW SINGLE STAGE 3-HEATER TANK (9/02 - 7/10/13)   
   3-HEATER TANK ASSY 183512-017 
     (1) GASKET COVER 3 HTR VLC/VLDI  
     (1) TANK WELD, VLC/VLDI02 3 HEATER (304SST)  
     (1) GASKET 3-1/2" X 11-3/4" SILICONE  
     (1) ADH CAULK SILICONE 1.0 OZ AC-1230-FLOW  
     (4) WASHER 1/4" LOCK PLATED  
     (4) SCREW MACH 1/4" 20X1" PH PNHD SST 18-8  
     (10) NUT LOCK 1/4" 20 UNC HEX NYLOC PLATED  
     (4) NUT RETAINER 1/4" 20 UNC  
   3-HEATER - TANK ONLY 167702-003 
  VLC 12, 18, 24, 32, 42, 50KW TWO STAGE 6-HEATER TANK (9/02 - 7/10/13)   
   6-HEATER TANK ASSY 183512-018 
     (1) GASKET COVER 6 HTR VLC/VLDI/GTS  
     (1) TANK WELD, VLC/VLDI02 6 HEATER (304SST)  
     (1) GASKET 3-1/2" X 11-3/4" SILICONE  
     (1) ADH CAULK SILICONE 1.0 OZ AC-1230-FLOW  
     (6) WASHER 1/4" LOCK PLATED  
     (6) SCREW MACH 1/4" 20X1" PH PNHD SST 18-8  
     (10) NUT LOCK 1/4" 20 UNC HEX NYLOC PLATED  
     (6) NUT RETAINER 1/4" 20 UNC  
   6-HEATER - TANK ONLY 167702-006 
  VLC 18, 27, 36, 48, 63, 75KW THREE STAGE 9-HEATER TANK (9/02 - 7/10/13)   
   9-HEATER TANK ASSY 183512-019 
     (1) GASKET COVER 9 HTR VLC/VLDI  
     (1) TANK WELD, VLC/VLDI02 9 HEATER (304SST)  
     (1) GASKET 3-1/2" X 11-3/4" SILICONE  



     (1) ADH CAULK SILICONE 1.0 OZ AC-1230-FLOW  
     (8) WASHER 1/4" LOCK PLATED  
     (8) SCREW MACH 1/4" 20X1" PH PNHD SST 18-8  
     (10) NUT LOCK 1/4" 20 UNC HEX NYLOC PLATED  
     (8) NUT RETAINER 1/4" 20 UNC  
     (1) PKG PALLET SM SET 36" X 30" VLC  
   9-HEATER - TANK ONLY 167702-009 
  VLC 24, 36, 48, 64, 84, 100KW FOUR STAGE 12-HEATER TANK (9/02 - 7/10/13)   
   12-HEATER TANK ASSY 183512-020 
     (1) GASKET COVER 12 HTR VLC/VLDI  
     (1) TANK WELD, VLC/VLDI02 12 HEATER(304SST)  
     (1) GASKET 3-1/2" X 11-3/4" SILICONE  
     (1) ADH CAULK SILICONE 1.0 OZ AC-1230-FLOW  
     (8) WASHER 1/4" LOCK PLATED  
     (8) SCREW MACH 1/4" 20X1" PH PNHD SST 18-8  
     (10) NUT LOCK 1/4" 20 UNC HEX NYLOC PLATED  
     (8) NUT RETAINER 1/4" 20 UNC  
   12-HEATER - TANK ONLY 167702-012 
  VLC 2, 3, 4, 5KW SINGLE STAGE 1-HEATER TANK (7/10/13 - PRESENT)  
   1-HEATER TANK ASSY 183512-116 
   1 - HEATER - TANK ONLY 167702-101 
  VLC 6, 9, 12, 16, 21, 25KW SINGLE STAGE 3-HEATER TANK (7/10/13 - PRESENT)  
   3-HEATER TANK ASSY 183512-117 
   3-HEATER - TANK ONLY  167702-103 
  VLC 12, 18, 24, 32, 42, 50KW TWO STAGE 6-HEATER TANK (7/10/13 - PRESENT)  
   6-HEATER TANK ASSY 183512-118 
   6-HEATER - TANK ONLY  167702-106 
  VLC 18, 27, 36, 48, 63, 75KW THREE STAGE 9-HEATER TANK (7/10/13 - PRESENT)  
   9-HEATER TANK ASSY 183512-119 
   9-HEATER - TANK ONLY  167702-109 
  VLC 24, 36, 48, 64, 84, 100KW FOUR STAGE 12-HEATER TANK (7/10/13 - PRESENT)  
   12-HEATER TANK ASSY 183512-120 
   12-HEATER - TANK ONLY  167702-112 
 2. COVER     
  1-HEATER COVER VLC 2, 3, 4, 5KW SINGLE STAGE  
   TUBE (HOSE) OUTLET 1-HEATER COVER 167710-101 
   NPT (THREADED) OUTLET 1-HEATER COVER 167710-101T 
  3-HEATER COVER VLC 6, 9, 12, 16, 21, 25KW SINGLE STAGE  
   TUBE (HOSE) OUTLET  
    (1) 1-1/2" TUBE OUTLET 3-HEATER COVER 167715-101 
    (2) 1-1/2" TUBE OUTLET 3-HEATER COVER 167715-102 



    2" TUBE OUTLET 3-HEATER COVER 167715-201 
   NPT (THREADED) OUTLET  
    (1) 1-1/2" NPT OUTLET 3-HEATER COVER 167715-101T 
    (2) 1-1/2" NPT OUTLET 3-HEATER COVER 167715-102T 
    (1) 2" NPT OUTLET 3-HEATER COVER 167715-201T 
   FLANGE OUTLET (1) 2" FLANGE OUTLET 167715-201F 
  6-HEATER COVER VLC 12, 18, 24, 32, 42, 50KW TWO STAGE  
   TUBE (HOSE) OUTLET  
    (1) 1-1/2" TUBE OUTLET 6-HEATER COVER 167720-101 
    (2) 1-1/2" TUBE OUTLET 6-HEATER COVER 167720-102 
    (1) 2" TUBE OUTLET 6-HEATER COVER 167720-201 
    (2) 2" TUBE OUTLET 6-HEATER COVER 167720-202 
   NPT (THREADED) OUTLET  
    (1) 1-1/2" NPT OUTLET 6-HEATER COVER 167720-101T 
    (2) 1-1/2" NPT OUTLET 6-HEATER COVER 167720-102T 
    (1) 2" NPT OUTLET 6-HEATER COVER 167720-201T 
    (2) 2" NPT OUTLET 6-HEATER COVER 167720-202T 
   FLANGE OUTLET  
    (1) 2" FLANGE OUTLET 6-HEATER COVER 167720-201F 
    (1) 3" FLANGE OUTLET 6-HEATER COVER 167720-301F 
   AREA TYPE (FAN ASSY NOT INCL) OUTLET 6-HEATER COVER 167720-A 
    FAN ASSY FOR AREA TYPE  
  9-HEATER COVER VLC 18, 27, 36, 48, 63, 75KW THREE STAGE  
   TUBE (HOSE) OUTLET  
    (1) 1-1/2" TUBE OUTLET 9-HEATER COVER 167725-101 
    (2) 1-1/2" TUBE OUTLET 9-HEATER COVER 167725-102 
    (3) 1-1/2" TUBE OUTLET 9-HEATER COVER 167725-103 
    (1) 2" TUBE OUTLET 9-HEATER COVER 167725-201 
    (2) 2" TUBE OUTLET 9-HEATER COVER 167725-202 
    (3) 2" TUBE OUTLET 9-HEATER COVER 167725-203 
   NPT (THREADED) OUTLET  
    (1) 1-1/2" NPT OUTLET 9-HEATER COVER 167725-101T 
    (2) 1-1/2" NPT OUTLET 9-HEATER COVER 167725-102T 
    (3) 1-1/2" NPT OUTLET 9-HEATER COVER 167725-103T 
    (1) 2" NPT OUTLET 9-HEATER COVER 167725-201T 
    (2) 2" NPT OUTLET 9-HEATER COVER 167725-202T 
    (3) 2" NPT OUTLET 9-HEATER COVER 167725-203T 
    (1) 3" NPT OUTLET 9-HEATER COVER 167725-301T 
   FLANGE OUTLET  
    (1) 3" FLANGE OUTLET 9-HEATER COVER 167725-301F 
   AREA TYPE (FAN ASSY NOT INCL) 9-HEATER COVER 167725-A 



    FAN ASSY (NOT INCL)  
  12-HEATER COVER VLC 24, 36, 48, 64, 84, 100KW FOUR STAGE  
   TUBE (HOSE) OUTLET  
    (1) 1-1/2" TUBE OUTLET 12-HEATER COVER 167730-101 
    (2) 1-1/2" TUBE OUTLET 12-HEATER COVER 167730-102 
    (3) 1-1/2" TUBE OUTLET 12-HEATER COVER 167730-103 
    (4) 1-1/2" TUBE OUTLET 12-HEATER COVER 167730-104 
    (1) 2" TUBE OUTLET 12-HEATER COVER 167730-201 
    (2) 2" TUBE OUTLET 12-HEATER COVER 167730-202 
    (3) 2" TUBE OUTLET 12-HEATER COVER 167730-203 
    (4) 2" TUBE OUTLET 12-HEATER COVER 167730-204 
   NPT (THREADED) OUTLET  
    (1) 1-1/2" NPT OUTLET 12-HEATER COVER 167730-101T 
    (1) 2" NPT OUTLET 12-HEATER COVER 167730-201T 
    (2) 2" NPT OUTLET 12-HEATER COVER 167730-202T 
    (4) 2" NPT OUTLET 12-HEATER COVER 167730-204T 
    (1) 3" NPT OUTLET 12-HEATER COVER 167730-301T 
   FLANGE OUTLET  
    (1) 3" FLANGE OUTLET 12-HEATER COVER 167730-301F 
    (1) 4" FLANGE OUTLET 12-HEATER COVER 167730-401F 
   AREA TYPE (FAN ASSY NOT INCL) 12-HEATER COVER 167730-A 
    FAN ASSY (NOT INCL)  
  COVER GASKET (NOT INCLUDED)  
   1-HEATER 7.375" x 7" COVER GASKET 160691-001 
   3-HEATER 12.625" x 7" COVER GASKET 160691-003 
   6-HEATER 20.1875" x 7" COVER GASKET 160691-006 
   9-HEATER 20.625" x 7" COVER GASKET 160691-009 
   12-HEATER 35.1875" x 7" COVER GASKET 160691-012 
   SILICONE (NOT INCL) ADHESIVE - ORDER 1 PER 2 GASKETS 320000 
   AREA TYPE FAN (COVER NOT INCL)  
 3. HEATER TERMINAL COVER  
  1-HEATER VLC 2, 3, 4, 5 KW SINGLE STAGE HEATER TERMINAL COVER 167745-001 
  3-HEATER VLC 6, 9, 12, 16, 21, 25 KW SINGLE STAGE HEATER TERMINAL COVER 167745-003 
  6-HEATER VLC 12, 18, 24, 32, 42, 50 KW TWO STAGE HEATER TERMINAL COVER 167745-006 
  9-HEATER VLC 18, 27, 36, 48, 63, 75 KW THREE STAGE HEATER TERMINAL COVER 167745-009 
  12-HEATER VLC 24, 36, 48, 64, 84, 100 KW FOUR STAGE HEATER TERMINAL COVER 167745-012 
 4. COVER FASTENER   
  SCREW, 1/4-20 x 1" SST PHMS 700300-013 
  WASHER, 1/4" STANDARD PLTD LOCK 700300-005 
  NUT RETAINER  700650 
 5. HEATER     



 6. COVER GASKET   
  1-HEATER 7.375" x 7" COVER GASKET 160691-001 
  3-HEATER 12.625" x 7" COVER GASKET 160691-003 
  6-HEATER 20.1875" x 7" COVER GASKET 160691-006 
  9-HEATER 20.625" x 7" COVER GASKET 160691-009 
  12-HEATER 35.1875" X 7" COVER GASKET 160691-012 
  SILICONE (NOT INCL) ADHESIVE - ORDER 1 PER 2 GASKETS 320000 
 7. CLEANOUT PLATE ASSY 183512-015 
   (1) CLEAN OUT PLATE WELD, VLC/GTS-NEW304SS  
   (1) GASKET 3-1/2" X 11-3/4" SILICONE  
   (10) NUT LOCK 1/4" 20 UNC HEX NYLOC PLATED  
 8. GASKET, CLEANOUT PLATE  308226 
 9. SWITCH, DOOR INTERLOCK 408475 
 10. THERMAL CUT-OUT 409560-001 
 11. DRAIN VALVE ASSEMBLIES  
  (09/02 TO 09/12)  
   ELECTRIC DRAIN ASSY KIT 183512-001 
     (1) DRAIN ASSY, VLC ELECTRIC  
   MANUAL DRAIN ASSY KIT 183512-002 
     (1) TUBE 3/4" DIA X 2.75" TYPE-L COPPER  
     (1) TUBE 3/4" DIA X 7.00" TYPE-L COPPER  
     (1) TEE 3/4" SWEAT COPPER  
     (1) UNION 3/4" SWEAT CXC COPPER WROT  
     (2) ELBOW 90° 3/4" STREET CUXFTG COPPER  
     (2) ADAPTER 3/4" FTG X FEM HYD ZONE  
     (1) VLV BALL BRASS 3/4" SWEAT  
   DRAIN ASSY KIT, VLC ROOFTOP (W.C.), ALL WATER 183512-003 
     (1) DRAIN ASSY, VLC ROOFTOP (W.C)  
   DRAIN ASSY KIT, VLC OUTDOOR ENCLOSURE, ALL WATER 183512-003 
     (1) DRAIN ASSY, VLC ROOFTOP (W.C)  
   ELECTRIC DRAIN ASSY KIT, ALTERNATE WATER SEAL (NOT RECOMMENDED) 183512-005 
     (1) DRAIN ASSY, VLC ELECTRIC WATER SEAL  
  (09/02 TO PRESENT)  
   DI END-OF-SEASON DRAIN ASSY KIT 183512-006 
     (1) DRAIN ASSY, VLC, D.I. WATER, N.C.  
  (09/12 TO 8/13)   
   ELECTRIC DRAIN ASSY 183512-007 
     (1) DRAIN ASSY VLC STD WATER  
   DRAIN ASSY, VLC (FOR D.I. WATER WITH OUTDOOR ENCLOSURE OR 

WEATHER COVER) 
183512-008 

     (1) DRAIN ASSY,VLC O.E./W.C., N.O.  
  (8/13 TO PRESENT)  



   DRAIN ASSY, VLC STD WATER 183512-300 
   DRAIN ASSY, VLC (FOR D.I. WATER WITH OUTDOOR ENCLOSURE OR 

WEATHER COVER) 
183512-301 

   DRAIN ASSY, VLC N.C. 183512-302 
  DRAIN VALVES   
   HONEYWELL 3/4" HYDRONIC DRAIN - 24V 505400-001 
   SWEAT BRASS BALL 3/4" 505011 
   ACTUATOR ASSY, BELIMO 24V W/ 3/4" VALVE  
    DRAIN VALVE, BELIMO 24V, N.C. 183506-001 
    DRAIN VALVE, BELIMO 24V, N.O. (FOR D.I. WATER WITH OUTDOOR 

ENCLOSURE OR WEATHER COVER)  
183506-002 

   SST BALL, 3/4" W/ MTG BRK 505000-004 
   ACTUATOR, BELIMO SPRING RETURN 24V 503900 
   VLV 3/4" BALL 2-POS N.C. 505401-001 
   VLV 3/4" BALL 2-POS N.O. (FOR STD WATER WITH OUTDOOR 

ENCLOSURE OR WEATHER COVER) 
505401-002 

 12. FILL VALVE PARTS   
  1-HEATER FILL VALVE ASSY KIT 183512-010 
    (1) FILL VALVE ASSY, VLC 1 HTR  
  3-12 HEATER FILL VALVE ASSY KIT 183512-011 
    (1) FILL VALVE ASSY, VLC 3-12 HTR  
  1-HEATER DI END-OF-SEASON FILL VALVE ASSY KIT 183512-012 
    (1) FILL VALVE ASSY, VLDI 1 HTR EOSD  
  3-12 HEATER DI END-OF-SEASON FILL VALVE ASSY KIT 183512-013 
    (1) FILL VALVE ASSY, VLDI 3-12 HTR EOSD  
  FILL VALVES   
   NEMA4 SST 1/4" 24V .125 ORIFICE 505095 
   NEMA4 SOL. 303SST 1/4" 24V .281 505086 
  1/4" NPT SEDIMENT STRAINER 300050 
  1/4" NPT NEEDLE VALVE 505070-001 
  ADAPTORS   
   BRASS ADAPTER, 1/4" NPT x 3/8" BSPT 167121 
   316SST ADAPTER 1/4" NPT x 3/8" BSPT 167131 
 13. FLOAT VALVE ASSEMBLY - DI 505210 
 14. TEMPERATURE SENSOR 405760-002 
 15. DIN RAIL     
  20 AMP DIN RAIL MOUNT TERMINAL 408252-001 
  BRACKET, DIN RAIL TERMINAL END 408252-006 
 16. PROBE PLUG W/8" COVERED CABLE 406050-101 
 17. PROBE KITS    
  PROBE ASSY KIT  183512-021 
    (1) PROBE TOOL, FIELD SERVICE  



    (1) GASKET 2.5" OD X 1.9" ID PROBE  
    (1) ADH CAULK SILICONE 1.0 OZ AC-1230-FLOW  
    (1) PROBE ASSY, VLC BLACK  
  PROBE GASKET  309750-004 
  SILICONE CAULK (1 PER 2 GASKETS) 320000 
 18. LOW WATER TUBE - DI 167790 
 19. LOW WATER CUT-OUT SWITCH - DI 408420-002 
 20. GASKET, PROBE  309750-004 
 21. PROBE HOUSING  308500 
 22. PROBE COVER  167746 
 23. BUSS BAR    
  SINGLE PHASE BUSS BAR 1.20 x 5.50 WYE 167755-001 
  THREE PHASE BUSS BAR .50 x 1.898 167760-001 
  THREE PHASE BUSS BAR 1.20 x 6.75 167760-003 
 24. CLEANOUT TRAY (STD WATER) 6-12 HEATER UNITS  
  6-HEATER 18" CLEAN-OUT TRAY 167770-006 
  9-HEATER 25" CLEAN-OUT TRAY 167770-009 
  12-HEATER 33" CLEAN-OUT TRAY 167770-012 
 25. PLUG, 3/4" NPT  250192-075 
 26. WIRE LUG (not shown) 409250-003 
 27. FLOAT SWITCH ASSY KIT (not shown) 183512-014 
   (1) SWITCH FLOAT 1/8" NPT LWCO  
   (1) TUBING HEAT SHRINK 3/16" BLACK  
 28. CLEANOUT PLATE ASSY KIT (not shown) 183512-015 
   (1) CLEAN OUT PLATE WELD, VLC/GTS-NEW304SS  
   (1) GASKET 3-1/2" X 11-3/4" SILICONE  
   (10) NUT LOCK 1/4" 20 UNC HEX NYLOC PLATED  

 



AREA TYPE FAN ASSY  
 1. FAN & BRACKET ASSEMBLY 180781 
  COVER & FASTENERS NOT INCL IN FAN ASSY  
 2. BOLT (2 REQ'D) 1/4"-20 x 3/4" 700300-001 
 3. NUT (6 REQ'D) 1/4"-20 HEX 700300-007 
 4. WASHER (6 REQ'D) 1/4" LOCK 700300-006 
 5. FAN ONLY 3 SPEED 18" 120V 400010-180 
 6. BRACKET ONLY AREA TYPE 160180 
 



AREA TYPE ELECTRIC FAN   
 3. FAN, 3 SPEED, 120V, 12" 400010-140 
 





HEATERS   
 1. 2 KW SINGLE LOOP  
  2 KW 120V SINGLE LOOP 409600-001 
  2 KW 208V SINGLE LOOP 409600-002 
  2KW 240V SINGLE LOOP 409600-004 
  2KW 277V SINGLE LOOP 409600-014 
  2KW 380V SINGLE LOOP 409600-011 
  2KW 400V SINGLE LOOP 409600-032 
  2KW 480V SINGLE LOOP 409600-006 
  2KW 600V SINGLE LOOP 409600-051 
 2. 3 KW SINGLE LOOP  
  3 KW 208V SINGLE LOOP 409600-003 
  3 KW 240V SINGLE LOOP 409600-005 
  3 KW 277V SINGLE LOOP 409600-016 
  3 KW 380V SINGLE LOOP 409600-012 
  3 KW 400V SINGLE LOOP 409600-033 
  3KW 480V SINGLE LOOP 409600-007 
  3 KW 600V SINGLE LOOP 409600-052 
 3. 4 KW SINGLE LOOP  
  4 KW 208V SINGLE LOOP 409600-008 
  4 KW 240V SINGLE LOOP 409600-009 
  4 KW 277V SINGLE LOOP 409600-018 
  4 KW 380V SINGLE LOOP 409600-013 
  4 KW 400V SINGLE LOOP 409600-034 
  4 KW 480V SINGLE LOOP 409600-010 
  4 KW 600V SINGLE LOOP 409600-054 
 4. 4.6 KW SINGLE LOOP  
  4.6 KW 208V SINGLE LOOP 409600-026 
  4.6 KW 240V SINGLE LOOP 409600-027 
  4.6 KW 277V SINGLE LOOP 409600-028 
  4.6 KW 380V SINGLE LOOP 409600-029 
  4.6 KW 480V SINGLE LOOP 409600-030 
  4.6 KW 600V SINGLE LOOP 409600-055 
 5. 5.3 KW SINGLE LOOP  
  5.3 KW 208V SINGLE LOOP 409600-020 
  5.3 KW 240V SINGLE LOOP 409600-021 
  5.3 KW 277V SINGLE LOOP 409600-022 
  5.3 KW 380V SINGLE LOOP 409600-023 
  5.3 KW 400V SINGLE LOOP 409600-035 
  5.3 KW 480V SINGLE LOOP 409600-024 
  5.3 KW 600V SINGLE LOOP 409600-056 



 6. 7 KW DOUBLE LOOP  
  7 KW 240V DOUBLE LOOP 409600-059 
  7 KW 277V DOUBLE LOOP 409600-063 
  7 KW 380V DOUBLE LOOP 409600-064 
  7 KW 400V DOUBLE LOOP 409600-060 
  7 KW 480V DOUBLE LOOP 409600-061 
  7 KW 600V DOUBLE LOOP 409600-062 
 7. 8.3 KW DOUBLE LOOP  
  8.3 KW 380V DOUBLE LOOP 409600-049 
  8.3 KW 400V DOUBLE LOOP 409600-038 
  8.3 KW 415V DOUBLE LOOP 409600-048 
  8.3 KW 440V DOUBLE LOOP 409600-050 
  8.3 KW 480V DOUBLE LOOP 409600-039 
  8.3 KW 600V DOUBLE LOOP 409600-057 
 8. HEATER NUTS AND GASKETS  
  SMALL HEATER NUT (.375") 409602-001 
  SMALL HEATER GASKET (.375") 409602-002 
  LARGE HEATER NUT (.475") 409601-001 
  LARGE HEATER GASKET 409601-002 
 9. BUSS BARS  
  1.2" x 5.5" HEATER BUSS BAR 167755-001 
  1.72" x 5.5" HEATER BUSS BAR 167755-002 
  3.53" x 5.5" HEATER BUSS BAR 167755-003 
  .5" x 1.75" HEATER BUSS BAR 167760-001 
  2.93" x 1.75" HEATER BUSS BAR 167760-002 
  1.20" x 6.75" HEATER BUSS BAR 167760-003 
  3.53" x 6.75" HEATER BUSS BAR 167760-004 
 


	Tank

	Labels 1

	Labels 2

	Labels 3-5

	Labels 6-11

	Labels 12-17

	Labels 18-28

	Area Type Fan Assembly


	Area Type Electric 
Fan 
	Labels


	Heaters 
	Labels



